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In [ ]: def study():
study=1
print (study)
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In [1]: | def study():
study=1
print (study)
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My first title in Jupyter

A very simple operation
Let's add two numbers:

In [1]: (1 + 2
Out[1l]: 3

Counter

Let's count from 0 to 4:

In [2]: for i in range(5):
print(i)
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from pyng import Overlay
from pyng.lib import AxiGPIO
ol = Overlay("base.bit™)

led_ip = ol.ip_dict['gpio_leds']
switches_ip = ol.ip_dict['gpio_switches']

leds = AxiGPIO(led_ip).channell
switches = AxiGPIO(switches_ip).channell

B EK bit Xl AT Overlay PREUKIE 45 28 /& ol , il id led_ip = ol. ip_dict[ 'gpio_
leds' ] % FH Vivado B iTH iy 4 A 'gpio_leds' ) AxiGPIO #EH It {H 5 Jupyter Notebook
Fi led _ip 3 1, 58 B Jupyter 5 AxiGPIO 3% 8. i H] leds = AxiGPIO (led _ip).
channell 1EA] % AxiGPIO BYi#IE 1 #1758 X,
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mask = Oxffffffff
leds.write(@xf, mask)
switches.read()
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from pyng import Overlay # I8 overlay J&E

from pynqg. 1ib import AxiGPIO # I8 AxiGPIO JE

overlay = Overlay("/home/xilinx/jupyter notebooks/ - .bit") #bit XA
overlay? # B bit CHH & F IP F B

Xt 4% A v AT 4 44

gpio 0 = overlay. ip dict['axi gpio 0']  # ¥{i FIAY AxiGPIO #&Ek Jupyter Notebook H 1
gpio_1 = overlay. ip dict[ 'axi gpio_1']
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gpio 2 = overlay. ip dict[ 'axi gpio 2']

a = AxiGPIO(gpio 0).channell # X} AxiGPIO I Y 44 i i i A7 Ay 44

b = AxiGPIO(gpio_0).channel2
cin = AxiGPIO(gpio_1).channell
s = AxiGPIO(gpio_1).channel2
cout = AxiGPIO(gpio_2).channell

X AxiGPIO % s 0 write O S5 47 W(E B £ 95 2% 21 PL o 547403 . 1§ PL I
Ab BRZE I B 25 3% B AxiGPIO B9 i A Biig o JF 38 5 read O S HUH AL 3RS A9 25 . 3@ i
AxiGPIO iy H £ i 75 ZEHE0S A Re i b . — BN B 88 1. Python 4 fii 7%
PR A HERD R 0O, P AT AR 48 i 1 B0 0 0 B MRS A A . IR 4 FEA44, Channel
A7 B 2 P #E Vivado HR A AxiGPIO B 5 B 45 1

mask = Oxf £ Ax1GPIO it hid

a.write(8, mask) # % AxiGPIO [ %y H v I B 8
b.write(9, mask)

cin. write(0, mask)

GPIO W s 75 2 B 5 A 2 8RR, i 5 BT prine O p&EOR 878 153 3] 1
4R,

print(cout. read()) # F AxiGPIO B2 i 5 2 Y 25 2R W ok
print(s. read())
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from pyng import Overlay
from pyng. 1ib import AxiGPIO
overlay = Overlay("/home/xilinx/jupyter notebooks/ --bit")

overlay?

gpio 0 = overlay. ip dict[ 'axi gpio 0']
gpio 1 = overlay. ip dict[ 'axi gpio 1']
gpio_2 = overlay. ip_dict[ 'axi gpio_2']

clk = AxiGPIO(gpio 0).channell Xt s 4 T 7 38 T8 21T A5 4
rst_ n = AxiGPIO(gpio_0).channel2 3%k 52 A T 7E 38 T8 HEAT A 44

out0 = AxiGPIO(gpio 1).channell
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import time # I8 FH B[R] R £
mask = 0bl # AxiGPIO #r i
timedelay = 0.1 £ U R] AE A
rst n.write(0b0, mask) # AT E AL

rst n.write(0bl, mask)

At A 4 28 Ak A v A F S 28 % L mlaE i Python 18358 3C 04 3 & B b 59 28 e, )7 38 5 For 1§
A7 ol 7

Python Ht for fF ¥ 60 & = A8 &, 55— (0 A6 R 00 82 16 67 5 — A7 R A0 B 1 8K 5 =
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import time

N = 30

timedelay = 0.1

sizes = range(O,N,1) = 1% B E IR R
mask = 0bl

for size in sizes:

clk.write(0b0, mask) = G 1 sk 4
clk.write(0bl, mask)

tnp =[] 2 QAL A7 4
al = out0.read()

tmp. append(al)

print (tup) 2 AT EVRCHR , i3 4/ o 309 1 25
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1. fJ% Notebook
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from pyng import Overlay
from pyng. 1ib import AxiGPIO

overlay = Overlay("/home/xilinx/jupyter notebooks/Example/design 1.bit")

overlay?
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Type: QOverlay

String form: <pyng. overlay. Overlay object at 0xb431cad0>

File: /usr/local/lib/python3. 6/dist—packages/pyna/overlay. py
Docstring:

Default documentation for overlay /home/xilinx/jupyter_notebooks/Example/design_1.bit. The following
attributes are available on this overlay:

IP Blocks
axi_gpio 0 : pyna. lib. axigpio. AxiGPIO
axi_gpio_1 : pyna. lib. axigpio. AxiGPIO

Kl 5-14 Overlay 15 &

gpio 0 = overlay. ip dict[ 'axi gpio 0']
gpio A = AxiGPIO(gpio_0).channell
gpio B = AxiGPIO(gpio 0).channel2
gpio 1 = overlay. ip dict[ 'axi gpio 1']
gpio S = AxiGPIO(gpio 1).channell

4. GPIO OWiES
X gpio_A Fil gpio B Wi 0B A 0 A1 1,38 i 52 B gpio S {H 20 K W 2 & 5 il 1 10 2%
H(S=AB) — &, i P RS e . 1RSI .

mask = 0bl

gpio A.write(0b0, mask)
gpio B.write(0bl, mask)
S = gpio_S. read()
print(S)
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